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Question: 21

You are designing for StorageGRID deployment.
In this scenario, what are two rules for the nodes? (Choose two.)

A. Youneed two admin nodes persite.

B. Eachdatacentersite mustinclude atleast fourstorage nodes.
C. Eachdatacentersite mustinclude atleast three storage nodes.
D. Onlyone admin nodeis permitted persite.

Answer: B,C

Question: 22

Exhibit.
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You are implementing storage-as-a-service using the service levels that are shown in the exhibit. In

NS0-603 Exam Dumps NS0-603 Exam Questions

NS0-603 PDF Dumps NS0-603 VCE Dumps

https://www.braindump2go.com/ns0-603.html



https://www.braindump2go.com/
https://www.braindump2go.com/ns0-603.html
https://www.braindump2go.com/ns0-603.html
https://www.braindump2go.com/ns0-603.html
https://www.braindump2go.com/ns0-603.html
https://www.braindump2go.com/ns0-603.html
https://www.braindump2go.com/
https://www.braindump2go.com/ns0-603.html
https://www.braindump2go.com/ns0-603.html

QBrandumer 0

Fist Try, Firsthass! ~ Braindump2go Guarantee All Exams 100% Pass One Time!
yourimplementation plan, which metricis used forthe SLAand

SLO?

A. throughput
B. 1/0 density
C. latency

D. RAIDlevel

Answer: B

Question: 23
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You are designing a new deployment of Cloud Volumes
ONTAP in Azure using a highly available configuration.
In this scenario, which two statements are true? (Choose two.)

A. Eachnode hasaccesstoits ownstorage only.

B. NFSv4 is supported.

C. NFSv4disnotsupported.

D. Eachnode hasaccesstothe othernode'sstorage.

Answer: B,C

Question: 24

Youre-engineeryouron-premises Infrastructure and migrating workloadstothe cloud. Youare asked
toconsiderahybridcloud deployment.

Which two scenarios would highlight that a hybrid cloud deployment would be more appropriate for
the workloadinthissituation? (Choose two.)

A. whenusedtoprovideaguaranteedlow latency solution foryouranalytics workloads

B. whenspecificdatainyoursolution is not permitted to be moved to the cloud due to regulations or
policies

C. when used to reduce management between your on-premises data center and remote locations
by hosting part of your architectureinthe cloud

D. whenusedasatransition platform during alonger-term migrationto a fully cloud-native solution

Answer: C,D

Question: 25

You are designing a file services platform for unstructured data in Amazon Web Services (AWS). The
primary workload of your data is production file shares. Based on your assessment, you notice that
only 10% of your data is "hot", which equals 4 TB of storage. This active data set requires high
performance storage. Theremaining36 TB of dataisarchive dat

a. Toachieve cost benefits, you deploy Cloud Volumes ONTAP in AWS, associate two 4 TB disks with
theaggregate,andenable datatiering.

In Cloud Manager, which volume tiering policy would satisfy the requirements?

A. Snapshot only

B. None

C. All

D. Auto

Answer:B
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Question: 26

You are designing a multicloud architecture using Microsoft Azure and Amazon Web Services (AWS)
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The objective is to deploy NetApp Cloud Volumes ONTAP in
both clouds and use SnapMlrror for replication. You already deployed NetApp Cloud Manager and
an associated Connector in Microsoft Azure. To connect your Cloud Manager to AWS, you are
instructed to establish asite-to-site VPN between Microsoft Azure and AWS.

Inthis scenario, which two components are required to provision the AWS endpoint for the VPN
connection? (Choose two.)

A. firewallrulesto unblock UDP port 4500
B. AWS Direct Connect

C. avirtual private gatewayin AWS

D. aVPNconnectionin AWS

Answer: B,C

Question: 27

You are using Windows Virtual Desktops and storing user profiles on Azure NetApp Files by using the
Premium storage service level. There will be 1000 contractors coming onboard forashort durationto
assist with project work, and eachone of themrequires virtual desktop access.

Inthis scenario, which three actions address the short term performance demand without affecting
thelatencyofexistingusers? (Choosethree.)

A. Use FlexCache.

B. Increase the volume quotaonAzure NetApp Files.

C. Changethe Azure NetApp Files service level to Ultra Storage.
D. Increase the capacity poolon Azure NetApp Files.

E. EnableencryptiononAzure NetAppFiles.

Answer:B,C,D

Question: 28

Exhibit.
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(Choose three.)

A. to increase redundancy

B. torefactortheapplicationtouse S3objectstorage
C. to reduce cost

D. toadd NFSv4 support

E. to increase performance

Answer: A, B, C

Question: 29

An IT organization transformed from an asset-based management approach into a service-provider
approach by implementing adaptive QoS and multiple points of automation. Now, performance and
costofthesystemare predictable.

Which two metrics would the organization start to report after such a transition? (Choose two.)

A. throughput for each storage array

B. IOPS per TB per month

C. cost per GB per month by service level
D. latency pereachstoragevolume

Answer: B,C

Question: 30

You are deploying NetApp Cloud Volumes ONTAP to support a relational database workload. You
must protect data from an intermittent loss of network connectivity to a single zone in a public cloud
data center.

Which Cloud Volumes ONTAP feature accomplishes this ta

A. end-to-end encryption

B. multi-zone high-availability (HA)

C. ONTAP storage efficiencies

D. intelligent cold-data tiering to object storage

Answer: B

Question: 31

You are asked to develop a migration strategy for your customer that is migrating several SMB and
NFS workloads from on-premises to Azure NetApp Files.
In this scenario, which three technologies should you consider? (Choose three.)
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A. rsync
B. robocopy
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C. NetAppCloudSyncservice
D. Azure Storage Explorer
E. SnapMirror technology

Answer:B,C,D

Question: 32

You want to deploy a NetApp Cloud Volumes ONTAP HA pair on Google Cloud.
In this scenario, what is the minimum supported network configuration for Virtual Private Clouds
(VPCs)?

A. four dedicated VPCs

B. onesharedVPCandthree dedicated VPCs
C. foursharedVPCs

D. onededicated VPCandthreeshared VPCs

Answer: B

Question: 33

Youare planning a migration of a single 500 TB workload into NetApp Cloud Volumes ONTAP starting
with 10 TB and gradually increasing the amount hosted in the cloud. You believe that 80% of the data
is cold and will be tiered using data tiering. The most important factor is to minimize the number of
licensesasyourfootprintgrows.

Which two licensing options would minimize the cost of the licenses in this scenario? (Choose two.)

A. Purchase aPAYGOlicense from the cloud marketplace for theinitial footprint, and then usein-
placeconversiontoaBYOLlicense.

B. Purchase a PAYGO license from the cloud marketplace for the initial footprint, and allow it to grow
asyour CloudVolumes ONTAPinstance grows.

C. Purchase aBYOLlicense for the initial footprint, and then stack additional BYOL licenses when you
reach capacityontheinitial license.

D. Purchase asingle BYOL Cloud Volumes ONTAP license for the Initial footprint, and then deploy a
new Cloud Volumes ONTAPinstance foreachadditional migration.

Answer: B,C

Question: 34

An administrator notices that disks need to be added to Increase capacity in NetApp Cloud Volumes
ONTAP in Azure deployed as an HA pair. The administrator is preparing to use the Azure portal to add
thedisks.
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As a cloud architect, what would you tell the administrator to do
in this situation?

A. Use NetApp System Managertologinto Cloud Volumes ONTAP and add disks to theright node.
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B. Use NetApp Cloud Managertoadd diskstothe aggregate.
C. Use the CLItologinto Cloud Volumes ONTAP and add disks to the right node.
D. Usethe Azure portalto navigate tothe storage accountand add anew Blob container.

Answer:C

Question: 35

Your customer wants to move from hosting all workloads in a public cloud to infrastructure-as-a-
service (laaS) on-premises.

In this scenario, which two benefits would you present to the customer? (Choose two.)

A. scalability

B. data sovereignty
C. agility

D. data security

Answer: A,B

NS0-603 Exam Dumps NS0-603 Exam Questions

NS0-603 PDF Dumps NS0-603 VCE Dumps

https://www.braindump2go.com/ns0-603.html



https://www.braindump2go.com/
https://www.braindump2go.com/ns0-603.html
https://www.braindump2go.com/ns0-603.html
https://www.braindump2go.com/ns0-603.html
https://www.braindump2go.com/ns0-603.html
https://www.braindump2go.com/ns0-603.html
https://www.braindump2go.com/

